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INSTRUKCE

Test obsahuje 25 otazek s alternativami odpovédi (A), (B), (C), (D), z nichz je jedina spravna.
Svou odpoveéd zapiSte odpovidajicim pismenem do ptislusného ramecku vpravo. Chcete-li
odpoveéd’ zménit, pozadejte Clena komise o parafovani zmény. Spravna odpovéd’ se hodnoti
jednim bodem, zadnd nebo nespravna odpovéd Zddnym bodem, tj. maximdalni pocet
dosazitelnych bodt je 25. Na provedeni testu mate 20 minut. Pfi testu nelze pouzivat zadné
pomiucky ani elektronicka média. Lze pouzivat pouze psaci potieby.

Choose the best option.

1. Will you remember ......... him an email when you arrive to Prague?
(A) sending (B) to be sent (C) to send (D) to sending
2. Thankstothe ......... of the new system our profit has doubled.
(A) heritage (B) efficiency (C) engineering (D) ratio
3. Theman....... flat I'm staying in is my colleague.
(A) what (B) who (C) which (D) whose
4. Did you have any problems while you ......... with the new programme?
(A) had worked (B) have worked (C) were working (D) worked

5. Our company has many ......... in the world.
(A) headquarters  (B) subsidiaries (C) head offices (D) parent companies

6. If you buy two pieces of this product, you ...... a discount of 50% for each.
(A) will give (B) are given (C) will be given (D) were given
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7. Who......... yesterday morning?
(A) has called you (B) have you called (C)did call you (D) called you

8 l..... for myself this week, because my parents have gone on holiday.

(A) cook (B) am cooking (C) cooked (D) was cooking
9. Johnson wasn't able to take part in the competition .......... leg injury.

(A) due to (B) resulting (C) because (D) by means of
10. You won't pass the exam, unless you study ......... .

(A) much more harder (C) much more hard

(B) much hardlier (D) much harder
11. The .......... on something is the amount of money available to spend on it.

(A) deposit (B) budget (C) GDP (D) schedule
12. You ... to the pub yesterday. Everyone was having a good time.

(A) should be coming (B) should come (C) should came (D) should have come

13, .. to our telephone enquiry, could you please send us the updated
price list?
(A) Further (B) On the basis (C)Re (D) Following
14. Can you describe how .......... ?
(A) is RAM working (C) does RAM work
(B) has RAM been working (D) RAM works
15. TI'll wait here .......... you are ready.
(A) until (B) before (C) as soon as (D) while
16. I'm looking forward .......... you at the conference.
(A) meeting (B) meet (C) to meeting (D) to meet
17. Instructions to your bank to make regular payments from your account are ........ .
(A) deposits (B) transactions (C) statements (D) standing orders
18. Bye. If the boss asks for me while | .......... out, tell him I'm at lunch.
(A) will be (B) was (C) would be (D) am
19. John has just finished the project. He told me he .......... so hard before.
(A) had never worked (C) has never worked

(B) would never work (D) never worked
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20. Doyou.......... with your new neighbours?

(A) look after (B) take up (C) come across (D) get on
21. I'm afraid the sales have decreased ......... 25% in the last 4 months.

(A) in (B) at (C) by (D) of
22. ldon't believe him a word, he's so ......... :

(A) dishonest (B) unhonest (C) honestless (D) inhonest
23. Mike hasn't been able to lift heavy things since he .......... the operation.

(A) have (B) had (C) had had (D) has had
24. Hewas......... , because the company had lost some contracts.

(A) made redundant  (B) missed (C) setup (D) delayed off
25. I'd like to see you. What .......... on Thursday evening?

(A) do you do (C) are you doing

(B) will you do (D) you do
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Test obsahuje 25 otazek s alternativami odpovédi (A), (B), (C), (D), z nichz je jedina spravna.
Svou odpoveéd zapiSte odpovidajicim pismenem do ptislusného ramecku vpravo. Chcete-li
odpoveéd’ zménit, pozadejte Clena komise o parafovani zmény. Spravna odpovéd’ se hodnoti
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Choose the best option.

1. Hesuggested ...... down the costs.
(A) cutting (B) cut (C) to cut (D) to cutting

2. Holdthe line, I'll ...... :
(A) tie you up (B) put you off (C) lay you off (D) put you through

3. The hotel ...... a new fitness centre last month.
(A) has opened (B) opened (C) has been opened (D) was opened

4. The average heating costs ...... from 350 to 320 and back to 360 CZK a month.
(A) dropped (B) fluctuated (C) reached (D) rose

5. What are you waiting for? The man at table 5 ...... his soup yet.
(A) hasn't given (B) didn't give  (C) hasn't been given (D) wasn't given

6. Idliketo...... the softball competition.
(A) take (B) take up (C) go for (D) take part in
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7. There was a decrease ...... sales last year.

(A) of (B) in (C)at (D) by
8. Johnisso ......, it takes him so long to do something.

(A) undecisive (B) imdecisive (C) indecisive (D) misdecisive
9. How much money .......... today?

(A) had you spent  (B) do you spend (C) did you spend (D) have you spent

10. I haven'tgot...... you.

(A) so many books as (C) such many books as
(B) that much books as (D) as many books as
11, 1. more money by the management.
(A) wasn't offer (C) didn't offer
(B) haven't been offered (D) haven't offered
12. Beethoven began his musical education .......... the age of five.
(A) at (B) for (©)in (D) -
13. "How many languages are there in the world?" "I have no idea how many
languages .......... :
(A) are in the world (C) there are in the world
(B) in the world are (D) are there in the world
14. "Did Mary buy some more sugar?" "I don't know .......... some more sugar."
(A) if Mary buys (C) if did Mary buy
(B) if Mary bought (D) if has Mary bought
15. I'll give you a ring after we .......... back from holiday.
(A) getting (B) got (C) will get (D) get
16. You won't tell anyone, .......... ?
(A) will you (B) do you (C) have you (D) wouldn't you
17. Roger will never .......... the death of his mother.
(A) get over (B) take over (C) geton (D) take after
18. 1 won't speak to her until she .......... sorry.
(A) said (B) would say (C) says (D) will say
19. Ican't find my umbrella. I .......... it on the train.
(A) might have left (C) might leave

(B) might left (D) might leaving
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20. If lweretaller, I.......... a policeman.
(A) can be (B) could be (C) was (D) will be
21, people do not want to get a better job.

(A) Inambitious (B) Unambitious  (C) Imambitious (D) Disambitious

22. The dog's barking. He .......... hungry.

(A) must be (B) could have been (C) cannot be (D) must have been
23. "Will you be back early?" - He asked her if .......... back early.

(A) she is going to be (C) she will be

(B) she would be (D) she is
24. Weare going to ...... a new branch of our company.

(A) lay off (B) dismiss (C) establish (D) found out
25. "My friend works in a bank." "How long .......... there?"

(A) was he working (C) has he been working

(B) is he working (D) does he work
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Test obsahuje 25 otazek s alternativami odpovédi (A), (B), (C), (D), z nichz je jedina spravna.
Svou odpoveéd zapiSte odpovidajicim pismenem do ptislusného ramecku vpravo. Chcete-li
odpoveéd’ zménit, pozadejte Clena komise o parafovani zmény. Spravna odpovéd’ se hodnoti
jednim bodem, zadnd nebo nespravna odpovéd Zddnym bodem, tj. maximdalni pocet
dosazitelnych bodt je 25. Na provedeni testu mate 20 minut. Pfi testu nelze pouzivat zadné
pomiucky ani elektronicka média. Lze pouzivat pouze psaci potieby.

Choose the best option.

1. Nowadays more people .......... e-mail and the Internet on a daily basis.
(A) uses (B) are using (C) have used (D) were using
2. Before I started my own business, I .......... as an accountant for a big company.

(A) was working (B) had worked (C) have been working (D) have worked

3. If you want to get promoted, you need to stop .......... and start working!
(A) to thinking (B) to think (C) thinking (D) think
4. You........ a complete invoice on Friday when you leave the hotel.
(A) will be giving  (B) will be given  (C) will give (D) are given
5. Last year the price of food rose .......... 6%.
(A)to (B) by (C) of (D) in
6. He'sso......... , he always fulfils his tasks at the last moment.

(A) unresponsible  (B) disresponsible  (C) irresponsible (D) inresponsible
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7. When we finally got to the cinema, the film .......... :

(A) has already started (B) starts  (C) already started (D) had already started
8. Sorry, I.......... a film on Friday. How about Saturday?

(A) 'll see (B) saw (C) 'm seeing (D) have seen
9. lneedto........ our meeting from Monday to Tuesday, | can't make it.

(A) come up (B) put off (C) cancel (D) hang on
10. Ithink Germaniis .......... than Spanish.

(A) a bit more easier (C) slightly more easier

(B) much more easier (D) much easier
11. She......... a holiday because she's very brown

(A) mustn't have had  (B) must have  (C) must have had (D) mustn't have
12. Are you going away .......... Easter?

(A) on (B) at (C) since (D) in
13. Let's phone Jack now before it .......... too late.

(A) will be (B) was (C)is (D) would be
14. Whenl......... my new job, I .......... in a small town.

(A) started, was living (C) started, had lived

(B) started, had been living (D) was starting, was living
15. "The film will be interesting.” - He said that the film .......... interesting.

(A)is (B) will be (C) was (D) would be
16. You......... hungry after such a huge meal.

(A) must have been (B) can'tbe (C) could have been (D) must be

17. "Why are you late?" - They wondered .......... late.
(A) why shewas  (B) why wasshe  (C) why is she (D) why she is
18. If Peter comes while I .......... at the meeting, can you give him this invoice?
(A) would be (B) be (C) am (D) will be
19. 1. the living room for a week, it'll be finished soon.
(A) have painted (C) have been painting

(B) was painting (D) am painting
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20. Theysentme. .......... for $ 2,000.

(A) an invoice (B) an overdraft (C) a debt (D) a standing order
21. Some people may show .......... to change.

(A) disappearance (B) appraisal (C) performance (D) resistance
22. Mike broke .......... with Lucy a month ago. They'd been together for 10 years.

(A) out (B) off (C) down (D) up
23. We're going the wrong way. You should .......... right at the traffic lights.

(A) had turned  (B) had turn (C) turned (D) have turned
24. Money you borrow from a bank to buy a house is a .......... .

(A) mortgage (B) deposit (C) savings (D) asset
25. The ......... on the loan is 26% per year.

(A) interest (C) debit

(B) pay (D) cost
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